4 (Sem-2) BUST

BUSINESS STATISTICS
Paper : 204
Full Marks : 80
Time : Three hours
The figures in the margtn indicate full marks

for the questions.

Answer either in English or in Assamese.

Answer question numbers 1, 2 and 3 and

any four from the rest.
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(i) Mention one limitation of statistics.
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- Choose the correct answer : 1.

(ii) Fill in the blank : s e B w4 2

N GIRIERISIRIE _ =1, the two lines of regression are :
Sample is a _ of the population; ok 1, ZCE SRR (IR O ®9 8
s Ts ———— T <61 SIRA | Coincident (35IS)

Parallel (FTX1®@1T)
(iii) Choose the correct answer :

wr Taq oo 390 ¢
(@) ©,=Median (=)

Perpendicular to each other (W oY)

I in the blank : ¢
ﬁms

“nge’s interpolation formula has

(b)) Q,=Median

(c) O =Median

d) D, =Median E ] |
i 4 ST e AT R
(i) A £ the standard deviation of '

; : . - whether the following statement is
geries oy X4 e s g, what 1s

¢t or not ? 1

standard deviation of Wbl e T Tz fora

T
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for an index number should be
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(viii) What is the probability of getting two heads.
when two uniform coins are tossed ?

@Wmemmﬁwﬁﬁ%@wc
Telfer e 2

(©) Two coins are tossed : If X denotes thé
. number of heads obtained, find the
. probability distribution of X, 2

W@GWWﬂWQ’EINﬁXﬂm

012 Y& (YSAIT FRLYIF ISR CORET X O
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(ix) Define random variable.

qfoes beTes ke il | '
o What is level of significance ? 2

siefrel wy e

(x) Mention the two parameters of bmoml
probability distribution.

R It %= AAlve EEIWWI

Define probablllty dlStrlbutIOI’l of a random '
variable. ; 2

2. (@) What are primary data ? fm Aoz v FrSifet 29Ba et i

et o2y & 2

wer any four parts of the followmg
. . : 5x4=20
(b)  Write down the empirical relationship amon T 596 Sods Tes FRAn

mean, median and mode.
~ Write a note on the 1mportance of statistics

‘ -~ in commerce. |
T4, S S < ﬁm , : |
s | - Hifeles #AfREa Reeme o o by G |

l
. Write @ note on pie diagram.

5 41 72 og At By Gret B
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Of a certain distribution, the Karl Pearson’s

(c) ‘ - What do you mean by statistical quahty
coefficient of skewness is 0-32, standard g control ? Discuss the causes of varlatlon in
deviation is 6-5 and mean is 29-6. Find the uahly
mode and the median of the distribution. ISR werst ol fREge e R » wetsre
5T AT <Pl TAATTRB SRS @eliees 032, RIS PISBTR S5 41 |
S REEA 65 A A4F 29-6 | IO I b
i s Al 9t Calculatc mean and standard dev1at10n of

: he Followmg distribution :
(d) Write a note on Karl Pearson’s coefficient ¥R BB I S S = P
of correlation. ] : ;
| - 2030 30440 40-50  50-60 60-70 70-80 80-
,Wﬁmamw\m@sw@w b
forall| | ‘ _
3 61 BG5S A 5L e
’ ' 3+4=7
(e) From a set of 20 marbles marked 1, 2, 3, ...,
19, 20, one marble is drawn at random. What B
is the probability that its number is amultlpl L fion fwo advantages of sample survey
Yer census survey. ' 3
of 2or 59 : ! '
20 51 SIETS 1, 2, 3, ...., 19, 20 — AT 7 r W'E”:“ RIS S Il Zﬁ‘f‘iﬁiﬂ
Rl =g | @3 (@IS S[1 «O! IMfHPeid Gife '
Wi’alﬁfﬁwa‘imemw
al 59 eftes @R Al e 2
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(@)

X

poe 15T e g 12l 13 11 8.

(b)

(@)

®)

(@)
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Calculate the coefficient of correlati . In a business a man can make a e

8. 2,00,000 with a probability of 0-4 or
live a loss of Rs. 1,00,000 with a probability -
0 *6. What is his expected profit ? 4

between x and y for the following data;

wee wal ©UF AE x E y I AGI

e e w4

nerre g [0 96! GIARS 0-4 ASIANTOCT
7 g RGeS

2,00,000 51 FSAA 2 AT 1 0-6 TSRNTSET
1,00,000 B sTR61R $RI A | Tepee TSIy
1® o =3 Sfere

Explain the concept of regression.
FAETE QRO FrT F |

What is a time series ? Discuss bneﬂ
different components of time series.

What is Poisson probability distribution ?
léntion the properties of this distribution.

| 2+4=6
SIS 76 & 7 (2 15 LT Srae

14
T B 2 AR R Tk

T A .

Write a brief note on the limitations of i
numbers.

W@NWW ﬂﬁrwcﬁm

16 probability that the student of a night
liege will be a graduate is 0-4. Find the
Obability that one student out of 5 will be
graduate. 4
State the Additive Law of Probab111

two mutually exclusive events and cX

it with an example.
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9. .(a) Calculate cost of living index number i‘

the following data assigning the giy Writ
. ¢ sh o
weights : - 4 Cﬁﬁ: ;r:“ notes on : 3x2=6
0TS meﬂaﬁﬁ“”ﬁmﬁﬁsﬁ.‘ .
otz < ApIce Sifelem 41 | 1 (i)  Interpolation
(STBCIIeT)

© Group of items  Group index ~ Group wei ol

AN} (oG AT (oM BRI AN (A6 §
55

(i) Null hypothesm and alternative
hypothesis.

‘Food items -~ 150
aw A e er sl Rt |
Clothing 5 =280
@
Fuel 180
-
House Rent o0
@ Sl et
.Others it G
N Rin)
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